¥ 3 8EIEEJOCY 1274Vt vihy7 BE Kk KE

RH - REEFRRKKS

ARA—FYR B
#EHiNo. 90 BF 1500m BEHEE F#E 34
CcS

Keg__ & K % s 2 S

148
0
1 E E 2358 Eith EiE VEVLUE VLS aF == 3
2 ® = 707 HH E& ENZ N A BXZ0 =2
3 B = 19 tHh &z 133 5ha% SIFNS S =3
4 ® = 1196 )R &HiE AN 3 I EE =3
5 B R 884 EIF X ™+ b tMINVEE =1
6 =X = 705 Hib &= k™ 4477 BXZ =2
17 E E 2290 T REA  7WwN b $FASS =2
8 = #B 1963 KH EA 115 b REXH = =3
9

2#8
0
1 T A 1865 SdtEEZA 1359 V19/28 ZBIE =2
2 K K 2224 INR EFE Yy hua 4 J S SHEEE =3
3  disE 22 #BF % 9Ah7 713 FaEt -0 -SC =2
4 B K 281 St kiE by an¥ HIfES S (=
5 & M 1656 Fi&E  #h M+ 429 EAMS S =3
6 =T A0 1709 Rk RTE 1M 3984 E2HES =2
7 diBE 31 e E +hY° 3 Y39 =N =P EE TN =1
8 g E 2280 TR BHE p) L LE mE’ =1
9

348
0
1 B E 325  fEfrL pE 149 1)) A4 VKE =3
2 ® = 1136 ®HE FR Wyam 19y EHSC =3
3 B £ 320 Mx X 4y 194 BEX =3
4 = R 2404 @R AKX h%L7 V94 —wyiUSSs =1
5 E E 2272 ®A —1E ER V42 R RS =3
6 X W 159 # BT VUL HEXS =3
7 B E 562 AKX  1E YEL Eh An4vEBER =3
8 B X 2669 w[{E = I VEE o al T)—VER =2
9

SEIKO

Page: 1/1

Printing: 2015/08/21 15:38:55



